il

1T

A ERRESR (RS

=)

THE4 | R1=1 Aid~<y KB = - dega)l sk T ( HEX Sy OB - g~ 0 bR
e R ) THEXSy Ak o R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
Ak o R
= 1
W+ 1T
= 1
A T
= 1
el TR D, BT 0
m3 260
T
= 1
& Gt 1) fi T E 2 2. 5mPL_F4. omoARTi
m3 3
et (it 1) i e - 2. 5mAi
m3 40
LR T
= 1
BT (9] L50) BUGHIR L, FRCVYE L RO
W b REPE L
m2 30
FRTALET
= 1
R B G- EAIR Y L&)
m3 290

=N

pi




il

1T

=1

A

ahFe (K 1E

VDN

=)

T4 | R1=4+ Ad~<y KB = - WAl fRlmse T ( HERX Sy TPBE - g~~~ 0 iR
B RE ) TEXS b et 3R
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22

¥ 2Ly

m3 290
1 T
= 1
AT

=, 1

FlAE<y b TREX Sy A A~y b T, fiti T AR 500m

235
m2 150
k7 h-1

= 1

TN TR (7/0-)
=, 1

HIFL (TVh-) B FLIE : 6m, HTAR: 115mm, HTE: : Om, #T

- avy)-h AR (JRHIE) :Om
m 6

HIFL (7vh-) HIIFLI% 1 416m, ATLFE: 115mm, AL : Om,

T8 FUTIA R JEHE) :Om
m 416

HIFL (7vh-) HIIFLI% : 180m, ATLFE: 1 15mm, AL : Om,

RN ee) HUTIAR (JEHIE) :0m
m 180

TSN T FEAT - RN - BRIR - 25 Th-SRb & 1 1.=656m, 3611kg
ZN 30

VAVUISEIN FEABHBS AV I =2, ERESREE 24

N/mm2

m3 21
9 - THE Y I




il

TH

R %3 (R L

=)

T4 | R1=4+ Ad~<y KB = - WAl fRlmse T ( HERX Sy TPBE - g~~~ 0 iR
B RE ) TEXS b et 3R
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22

DAY 74
=] 1

2 (i)

Z2m3 910

1532 M T 2600 X 2600 X 600
# 6

25 MR T 2600 X 2600 X 600
F 8

IEZEMR T 2600 X 2600 X 600
F 6

4552 EAR T 2600 X 2600 X 600
# 10

A 7uy 7GR T
= 1
+T

= 1

PRYE V) +:
m3 20

R +5 . +w
m3 5

AHFEL

= 1
3= THE Y I




1T

il

3

A

=R

B,

Rt (AR =

=)

THE4 | R1=1 Aid~<y KB = - dega)l sk T ( HEX Sy OB - g~ 0 bR
e R ) THEXSy ARk e R
THX 5y - TAE - 85 - A5 Biks HLAZ i (ilAD) e (4m) KR S
IREREy uN t=20cm
= 1
2 FAE T t=20cm
= 1
g K % T
X 1
R+ T
= 1
PRAE TE
m3 60
HERL =
m3 10
BISAFT K T
= 1
BUGFT K L (7/h—8)
= 1
B FT KB T (AR
X 1
ARt
= 1
1 EE KA 400 X 400 X 500
& T 1
- TR I




= L B2\ ==
THEERER (K TE)
T4 | R1=4+ Ad~<y KB = - WAl fRlmse T ( FEX TPBE - g~~~ 0 iR
b P 1) THEXS b et 3R
TRy - TFE - FER - M5 JRA% =<¥iva e (gD HE (5E) B R i 22
SELEEKM 500 X 500 X 750
& I 1
4B 600 X600 X 1100
& I 1
55 AN 600 X 600 X 1000
& 1
R ARBERR T
= 1
(==
= 1
PRYE V) +:
m3 2
HEHEARE =)V T
= 1
V7 B T35PT: e, B X v¥E £, I’
O 1 £590mm
m 130
V7 i T35 P72, B8 XK fics, FEOY
2% £290mm
m 3
PRILE o TP HI VP, AN~ BRI N T 4
L, (RILEME - FE (VPOBE) %5
T, fRFLEME - FIE (RO E) -V m 28
fRFLE e T35 7T HiZRVP, A —ERS AN T« 48
L, RILEME - FiE (VPOSE) (45
T, fRFLEME - FE (RO E) Vv m 112
_5 - THE Y I




il

1T

? A A
Ly

=R

B,

Rt (AR =

=)

THE4 | R1=1 Aid~<y KB = - dega)l sk T ( HEX Sy OB - g~ 0 bR
e R ) THEXSy Ak o R
THX 5y - TAE - 85 - A5 Biks HLAZ He (milal) e (4m) KR e
at
Zm3 143
FLAALEET
= 1
FLAALEE T
& HT 7
[EREMNEE ¢
= 1
B ER
= 1
il (KL
= 1
S ¢
= 1
Bl E P
= 1
T
= 1
— A P
= 1
TAfiA&
= 1

=N

pi



il

TH

R %3 (R L

=)

T4 | R1=4+ Ad~<y KB = - WAl fRlmse T ( FEX TPBE - g~~~ 0 iR
b P 1) THEXSy b et 3R
TEHEXSy - TFE - &R - Hl5) Hiks =<¥iva e (gD Y (AR Tk i 22
THEBIRE K O 7 {E B B4
= 1
TG
= 1
_7 - THE Y I




